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Ajax Polling @ WebSocket

GET/poll — — — GET/ws — — —

GET/poll — — —

s HTTP Protocol =g Websocket protocol
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Endpoint: IP2t portl| &2 2 14, socket= endpoint 2+ S ¢l
Server => S & port2t A &Z & socket= 2 1) clientE J|CHE (listen)
Client => IP address 2t portE Soll socketlll &2 (connection)
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Server: Node.js

Client: javascript, Java, C++, Swift, Dart, Python, .Net

https://socket.io/
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2. socket.io - install(server)

$ npm install socket.io

const app = require('express')();

const server = require('http').createServer(app);
const options = { /* ... x/ };

const io = require('socket.io')(server, options);

jo.on('connection', socket => { /x ... x/ });

server.listen(3000);

https://socket.io/docs/v3/server-api/



2. socket.io - install(client)

$ npm install socket.io-client

const 10 = require('socket.io-client');
import { io } from 'socket.io-client';

socket = io.connect("http://moby.sparcs.org:44431", {

ol i

https://socket.io/docs/v3/client-api/



2. socket.io - emit

// server-side

io.on("connection", (socket) => ) )
socket.emit("hello", "world"); e serverJt “hello” event2t

1 “world” argumentE & &

e client= “hello” event=
2O ™A “world” argument=

==

=2

// client-side
socket.on("hello", (arg) => { -
console.log(arg); // world =

1)




2. socket.io - broadcast
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io.on("connection",
io.emit("hello",

// server-side
jo.on("connection",

socket.broadcast.emit("hello",

(socket) => {
Hworld"™);
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"world");
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2. socket.io - rooms

Server
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e ex) chatting AHlA LHOIA
socket.join('some room'); =& g0l U= = A0l ALt
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io.to('some room').emit('some event');

io.on('connection', socket =>




2. socket.io - namespaces

Cliert Server

Defaul-k nomespace Dcfauld’ namespace
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2.socket.io - namespace

const nsp = Hio.of('/my-namespace');

nsp.on('connection', socket {

console.log('someone connected');

});

nsp.emit('hi', 'everyone!');

const socket = io('/my-namespace');

e of £ 0|=0oH Al namespaceE
Ot= &= A0 LSS GHAl
U =CHH 7 JF defaultOl C

io.sockets.emit('hi', 'everyone');

io.emit('hi', 'everyone'); // 9% &2




3. socket.io & &

1. git clone https://github.com/se03650/socket.io-tutorial
2. npm install
3. client: npm run start / server: node chat-server.js



https://github.com/seo3650/socket.io-tutorial

3. socket.io &5 - TODO1: server

server0f| Al socket= & | et =J| ME = oll =At.



3. socket.io & & - TODO2Z: client

e localhost:30010{ connect oll = A}.



3. socket.io & & - TODOS3: client

e Send & =0l M chat-msg event £ emitoH == X}.
e json E4/2 = namelt messageS & Eol AL



3. socket.io & & - TODO4: client

e chat-msg eventE 20t A}
e obj keyE MIEoll==_ logsOil concatoll == At



3. socket.io & & - TODO1: server

e chat-msg eventE 2t0t=Al.
e chat-msg eventZ broadcast oll == Al.



3. socket.io &5 - TODO1

io.on("connection", (socket) => {
console.log("Login: ", socket.client.id);

socket.on("chat-msg", (msg) => {

console. log("message: ", msqg);

io.emit("chat-msg", msg);
1)
r):




3. socket.io 2 &5 - TODO2

1st socket = socketio.connect("http://localhost:3001");




3. socket.io & & - TODO3

send() {
socket.emit("chat-msg", {
name: this.state.name,

message: this.state.message,
});

is.setState({ message: "" });




3. socket.io &= - TODO4

componentDidMount() {
socket.on("chat-msg", (obj) => {
obj.key = "key_" + (this.state.logs.legth + 1);
console. log(obj);

this.setState({ logs: this.state.logs.concat([obj]l) });
r;
}




